Threshold Concepts and WinEcon for First Year Business Undergraduates

Opportunity cost

Please answer the following questions by circling the appropriate answer.

1. Do you understand what is meant by opportunity cost?


    
Please circle the appropriate number.

	1
	2
	3
	4
	5


Uncertain                            Certain

2. Which is the following is a definition of opportunity cost?

a) The change in total cost from producing one more unit of a good.

b) The cost of any decision measured in terms of the best alternative forgone. 

c)  Costs that vary with the amount of output produced.

3. Which of the following best illustrates the application of opportunity cost to business?

a) An entrepreneur spends £500,000 on equipment and premises for a restaurant, even 

before opening up to customers and cooking meals.

b) Henry Ford reduced the cost to make each car through implementing mass production.

c) A firm’s decision to spend £20m on an advertising campaign means it has to sacrifice spending on research and development.

Name:_________________________________________________

Note: this is not part of your assessed coursework.
